Droites Numériques (A)

Complétez cette droite numérique par les nombres manquants.

| | |
5685 5687 5689

| | |
5691 5693 5695

Différence commune:
| | | | | | | | | |
| | | | | | | | | |
9027 9035 9043 9051
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
1422 1428 1431 1434 1440
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
4297 4312 4342
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
9689 9695 9699 9703 9705
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
6444 6454 6474 6484 6534
Différence commune:
; ; ; ; ; ; ; ; ; ;
8551 8556 8561 8566 8571 8586 8591 8596
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
3837 3838 3841 3842 3846

Différence commune:
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Droites Numériques (A) Réponses

Complétez cette droite numérique par les nombres manquants.

| | |
5685 5687 5689

Différence commune:

| |
5691 5693
2

! !
5695 5697

|
5699

| | |
9015 9019 9023

Différence commune:

| |
9027 9031
4

|
9043

| | |
1422 1425 1428

Différence commune:

| |
1431 1434
3

|
1443

| | |
4297 4302 4307

Différence commune:

| |
4312 4317

5

| | |
9687 9689 9691

! !
9693 9695

Différence commune:

2

| | |
6444 6454 6464

Différence commune:

| |
6474 6484
10

! ! !
8551 8556 8561

Différence commune:

! !
8566 8571
5

! ! !
3837 3838 3839

! !
3840 3841

Différence commune:

1
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